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1.  NUMERATOR:    5 -  = 5  

as improper fraction =   

DENOMINATOR:  -  x  
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2.  15=3×5 

20=22×5 

30=2×3×5 

L.C.M =22×3×5 =60  

6.00 am+1 hour 

=7.00am 
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4.  A(1, 1)        M( 3,5)      B (x, y) 

= 3       x= 6-1 = 5 

= 5      y= 10-1 =9      hence B (5, 9)         

M1=   = 2  hence M2 = -  

= -         2y- 18= - x+5       2y+ x = 23      
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5. ( 3x+21  = ( -6x 

( 3x+21  = ( 6x  
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6. £1200 to Ksh.=1200 x114.20 

=137040 

Balance600000 -137040 =462,960 

Ksh.to Euros = 462960 

101.30 

=4570.188 

Balance=4570.188-200 =4370.188 

Balancein Ksh. =4370.188 x101.20 

=Ksh.442,263 
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7. M= 4 x x  x 625 = 112.5 M1 
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14. ÌÏÇσώ ς ÌÏÇρπώ τ 

σώ  ς  ρπώ ɀ τπ    

χώ   τς 

 ώ  φ  
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16.  -        =  

                      5x-20 = 6x             

x= -20                                                      
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SECTION B 

17. 

 

(b) (i) 35km (ii) 33.5km (iii) S750W (iv) S420E 

(c)Area of ADC φȢχὧά ρȢψὧά φȢπσὧά 

Area of ABC ί χ τ υ ψ 

ψψ χ ψ τ ψ υ= Ѝωφ 

ωȢχωψπὧά 

Total area φȢπσὧά ωȢχωψπὧά ρυȢψςψὧά 

Area of the scale ρὧά ςυὯά 

ρυȢψςψὧά ςυὯά σωυȢχὯά 

σωυȢχὯά ρππσωυχπὬὩὧὸὥὶὩί 
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19. (a) 596 23 ++-= tttS  

9123 2 +-= tt
st

ds

 

At t =0.5seconds. 

Gradient = 9)5.0(12)5.0(3 2 +-  

=3.75m 

 

(b) when 09123,0 2 =+-= tt
dt

ds
 

0342 =+- tt
 

(t-1) (t-3) = 0 

 

t= 1 or 3 seconds 

when t=1b, S=1-6+9+5 

=9m 

When t = 3s, S= 539363 33 +³+³-  

=5m. 
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At (3,5) Mim turning point. 

 

 

 



 

20. 

a). 

 

 

 

 

b). 

 

 

 

 

 

 

c). 

L.S.F=
24

18
=

6.14+x

x
 

24x=18x+262.8 

  6x=262.8 

    X=43.8 

Hence H=43.8+14.6 

               =58.4cm 

18x7.5=135 

24x10=240 

0.5x2x14.69693846x42=617.2714 

0.5x2x14.94782593x17.5=261.5869538 

ATOTAL=135+240+617.27+261.59 

         =1,253.858354cm2 

V=VB.P-VS.P 

=(
3

1
X 240 X 58.4)+(

3

1
X 135X 43.93) 

=4672-1976.85 

=2695.15 cm3 
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(a) 

Let the number of members be x 

Each member should contribute Ksh 
x

4000
 

New contribution per member  Ksh
15

4000

-x
 

60
4000

15

4000
=-

- xx
 

4000(x)-4000(x-15)=60(x2-15x) 

x2-15x-1000=0 

  x=    

  ὼ   
ρυ φυ

ς
 

X=40 or -25 

X Í-25  

Therefore x=40 
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